NSSNALPOA ﬁs

WV
L
—
<L
el
(=
|
(=




50




Washer Plates TR

Y

MT-PL-W-06

I

PR

He

Standard Material | A36 Low Carbon Steel
Standard Finish | 11-Zinc Gold/Yellow
Available Finish(es) | 10-12,20-33*  *Powder Coating Not recommended | Gold/Yellow color aids in inspection M R
Hole Size 11/16" (17.46mm) ‘
Recommended Tools | Tool Kit 1

For More Info www.ModTruss.com A c
Part # Recommended
Description GEIGIVE]
MT-PL-W-12 3"x10.25" x 0.5" 3.30lbs 5/8"-11 Thread Grade 8 Bolt, 2.5" Long H W
5/8" SAE Zinc-Plated Washer
12" Washer Plate (76.20mm x 260.35mm x 12.70mm) | (1.50kg) 5/8"-11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer

M16 x 2 Thread, Class 10.9 Nut) T K

MT-PL-W-06 175" x 4.88" x 031" 0.55lbs 5/8"-11 Thread Gradle 8 Bolt, 2" Long

5/8" SAE Zinc-Plated Washer
6" Washer Plate (44.45mm x 123.95mm x 7.87mm) | (0.25kg) 5/8"11 Thread, Grade 8 Hex Nut

(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer IVI H

M16 x 2 Thread, Class 10.9 Nut)

o @ O LI

In Stock Reusable Compatible*

*Only 12" Washer Plate | MT-PL-W-12 is compatible with standard Truss G I-

..I.f.Tf_.[ ModTruss U.S. Patent No. 8,418,425 & other patents pending




52

Series | PL Plates

Product Number | MT-PL-W-XX

XX-M-1d-IW

“3IANON L3Vd

S3LV1d d3HSYM

§“zoa_>mi 810z/S1/8

SSNALPOIA
WA NI 33V SNOISNIWIQ [] 1340vae
[65"] 90F - GIN: TIATINOISIORd | = -—IU —___._._

90-M-1d-1IW

i

[9¥°£1]
690

1444
S/l

CL-M-1d-1IW

00'¢

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



Splice Plates

MT-PL-5-12-24-00

Standard Material
Standard Finish
Available Finish(es)
Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel
10 - Zinc Clear

10-12, 20-33

11/16” (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

Part # Size Weight
Description

MT-PL-S-12-24-00* 11.50” x 22.50” x 0.25" 11.85Ibs (5.38kg)
12" x 24" Splice Plate (292.10mm x 571.50mm x 6.35mm)

MT-PL-5-06-12-00 11.75" x 5.75" x 0.25" 3.10lbs (1.41kg)
6" x 12" Splice Plate (298.45mm x 146.05mm x 6.35mm)

MT-PL-S-12-24-90* 23.5"x23.5"x 0.25" 18.851bs (8.55kg)
127x 24" x 90°

Flat Angle Splce Ple (596.9mm x 596.9mm x 6.35mm)

MT-PL-S-06-12-90 11.75" x 11.75" x 0.25" 4.75Ibs (2.15kg)
6"x12"x90°

FlatAngl Splce Plate (298.45mm x 298.45mm x 6.35mm)

In Stock

*Only 12" Splice Plates are compatible with standard Truss

{ T J ModTruss

U.S. Patent No. 8,418,425 & other patents pending

0

Reusable

Compatible*

Serialized & Traceable

AL

JH
PR
L
MR-
AC
Hw
AL
M-

L

GL



XOXXXXSAEIN.__ 06965 06-¥Z-Z1-5-1d-LW

§31V1d 3011dS

INOILJI¥O$3a * o o (e] (e] o o o e}
—O (@] (@] [e]

LA NOISIAZY 7 810z/c1/8

WZ.E o o o No [o1z62]

e
1]} )
: 0
msemamanzoe | - SSAALPOW

Product Number | MT-PL-S-XX-XX-XX

Series | PL Plates

549 \oo oo o(o 05 L1
06-CL-90-S-1d-IW © 0 © 0 9]0 ©)|° [06965]
05€Z
L [svset] . )
S/ \A * ﬁmw% — ?MN_.M;*
ZR YR [o9vl]
OB BA GG .
(0z9s] [sv'8ez] [s€°9] s/1e S/1€
00¢ ) wﬁm&* s ST Lf FN.L L ] *\ FN.L
o 7t [01z6Z]
se9) | [eeeEl J [o9%1] = ol
ST 8¢l o/c a
oz — o
A
O (o] g
[5e9] eeve] ] | [99°¢4] .
5¢ Lr sel 69°¢ ﬁo%ow% — 01267
0511
| [sveer] |
SL1L
WM& LT [S21€] L ] f [S0°61] [S71£1]
szl S 5.9
00-CL-90-S-1d-IW 00-¥C-CL-S-1d-IW

NSSNALPO| b..s

U.S. Patent No. 8,418,425 & other patents pending



3-Way Splice Plate 12" x 12" 45°
Part Number | MT-PL-S-12-12-72-045-096

Use: Makes a 96" x 96" Frame

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel

10 - Zinc Clear

10-12, 20-33

20.00" x 20.00" x 0.25” (508.00mm x 508.00mm x 6.35mm)
13.301bs (6.03kg)

11/16” (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

O PN
ire} g ]
0<% \ U 4

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

{ Ty J} ModTruss

U.S. Patent No. 8,418,425 & other patents pending

TR

H
PA
HG
MR
AC
HW
K
MH

L




56

960-S70CLTICL-STdIW -
aionbg
.96 10} 8J0|d 8IS BopSy g |
AN INOISIATY 7 810¢/S/6 _af
wipeesiezy | - SSMALDOA M-E | v |
e E&4r 7 |
h T
[s€9]
05'L
[£0°8€]
SLIL
[sv86c]

00°
(0T £57]

00°€ O O

[0z'9£]

051 SLLL
[eLgg] = [sv°86t]

Product Number | MT-PL-5-12-12-72-045-096

Series | PL Plates

NSSNALPOA .mrﬁ

U.S. Patent No. 8,418,425 & other patents pending



3" Splice Plate

Part Number | MT-PL-S-03-15-TEE

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel

10 - Zinc Clear

10-12, 20-33

14.44" x 8.63" x 0.25” (366.78mm x 219.20mm x 6.35mm)

3.55Ibs (1.61kg)

11/16” (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 5" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut

Tool Kit 1
www.ModTruss.com

Electrical Hazard Flammability

ModTruss

N
5
5

In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TR

H
PA
HG
MR
AC
HW
K
MH

L




58

Series | PL Plates

Product Number | MT-PL-5-03-XX-XXX

XXX-XX-€0-S-1d-IW

“YIIWAN L3Vd

$31V1d 3011dS .

LA NOISIAZY 7 w_.ON\O_.\O
) i
wisegrsgiszy - SSMALPON E

[S€9] [5€9]
| | ﬂ 14 14 H_ |
* T
[12'99¢]
444!
[o1'8g] [r8'€27]
dAL 0S' jmw% * 188
f
. 7 7 AW . . N
1 O0-000 0000 | Y Wle e e
[0z92] ) * : | | N
0 [80°61C] ; @ [v8eze]
I @ £9'8 dAl 188
\@ 2] e
dAL
ovs] @ \ﬁoo_m.mm 18'S mw
N /|
g g L
18T 187

331-91-€0-S-1d-IW 060-60-€0-S-1d-1W

NSSNALPOA h..ﬁ

U.S. Patent No. 8,418,425 & other patents pending



Inner Splice Plate 3" x 12"
Part Number | MT-PL-S-03-12-04-IS

Note | This product is only used with ModTruss 3" x 3" Truss

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel

10 - Zinc Clear

10-12, 20-33

2.19" x 11.81" x 0.67" (55.63mm x 299.97mm x 17.02mm)
1.85lbs (0.84kg) | Plate 1.85Ibs + .2Ibs = 2.05Ibs Total Weight
11/16” (17.46mm)

1/2"-13 x 1" Taper Head Socket Cap Screw

Tool Kit 1 | 6 Hex Key Wrench Cluster - MT-TK-HX-00-0-SAE
www.ModTruss.com

{ T J ModTruss

& ©

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending

Serialized & Traceable

AL

JH
PR
L
MR-
AC
Hw
AL
M-

L




60

Series | PL Plates

Product Number | MT-PL-5-03-12-04-IS

SI-70-¢1-€0-S-1d-IW

4IGWAN 13Vd

F1OH-¥ '30I1dS
JANNICL X, "ALV1d 3ONdS

‘NOILI¥OS3Ia

mz.zo_m_ii £102/91/8

[65°1] 90°F - GIW : TIAFTNOISIDIN

Al
WIN NI 33V SNOISNIWIA [] 1330V ae - ' mm :hHUDE E
o

18t

[r0'00¢€]

612 E
[95°55]

ST
[s£9]

L]

INN LM EL-T/L XY

L]

L]

05y
[os2l]

VR VR

N~ 7 X~ 7

J

00'¢ 1l
[0z°9/] [erse] —

NSSNALPON m_r..._

U.S. Patent No. 8,418,425 & other patents pending



Aluminum Spacer Plates

Standard Material | 5052-H32 Aluminum
Standard Finish | 02 - No Finish
Available Finish(es) | 20-33
Hole Size | 11/16” (17.46mm)
Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

Recommended
Hardware
5/8"-11 Thread Grade 8 Bolt, 2.5" Long

5/8" SAE Zinc-Plated Washer
5/8"-11 Thread, Grade 8 Hex Nut

Part # Size Weight

MT-PL-SP-06-06-0025 6”x6"x0.25" 0.50lbs
(152.40mm x 152.40mm x 6.35mm) (0.22kg)
MT-PL-SP-12-12-0025* 2.40lbs

(1.08kg)

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

5/8"-11 Thread Grade 8 Bolt, 3" Long
5/8" SAE Zinc-Plated Washer
5/8"-11 Thread, Grade 8 Hex Nut

12" x12"x 0.25"
(304.80mm x 304.80mm x 6.35mm)

(M16 x 2 Thread, 76mm Long, Class 10.9 Bolt
M16, Class 10.9 Washer
M16 x 2 Thread, Class 10.9 Nut)

oo
OEQ*
RpC
Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible* Serialized & Traceable

*Only 12" Spacer Plates are compatible with standard Truss

ModTruss U.S. Patent No. 8,418,425 & other patents pending

HG
MR
AC
HW
K
MH

L

GL



XXX-XXXX-dS 1IN
$31V1d d30VdS lorzs1]
LA *NOISIAFY 7 w —ON\W\G ) ZO,.E&U&D OO.@W_
wizesrssissy |- SSMALPOA s_‘E
—-
[or'ZS1] @ @
0093
XXXX-90-90-dS-1d-1IW
© @/
PN .
losz1] N [9r21]
05y 69°d
[0z94] [o1'8¢]
0500-90-90-dS-1d-IW Al .90 00°cY 051y
G200-90-90-dS-1d-LW Wil .90
0S00-¢L-¢l-dS-1d-IW il Wl
§2¢00-¢l-¢l-dS-1d-IW A Wl ﬁow.woﬂ
JINNN L3Vd SSINNOIHL 3718 0ocly
. ~
o 9 9 @
@ @
@ @
= [08v0E]  [SKLLL]
= 0071y S/'94
= @ & .
& [ov°£1]
0 & o o L9
s = XXXX-TL-T1-dS-1d"1IW Wl | & O O @\
& 3 €92y
m * N Y
— = \ [0z'9/] [o1'8¢]
" = [0s21] 00°eY 05" 1Y
Q2 05y
S
7}
wv

NSSNALPO| N.s

U.S. Patent No. 8,418,425 & other patents pending



Base Plates 12" | 18" | 24" | 36" TR

I

MT-PL-B-18-18-0075

MT-PL-B-24-24-0075

PR

He

Standard Material | A36 Low Carbon Steel
Standard Finish | 25 - Silver
Available Finish(es) 10-12, 20-33
Hole Size | 11/16” (17.46mm) MT-PL-B-12-12-0075 MR
Recommended Tools | Tool Kit 1 -
For More Info | www.ModTruss.com

AC

Part # Size Weight Recommended
GETGITET(
MT-PL-B-36-36-0075 36" x 36" x 0.25" 103.90Ibs Zg; ;ET?reagIGtraéi\efo E;]olt, 2.5 Long H W
" o * " inc-Plated Washer
36" 36" Steel Base Plate (914.40mm x 914.40mm x 6.35mm) (47.13kg) 5/8".11 Thread, Grade 8 Hex Nut

Non-Certified

(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt

MT-PL-B-24-24-0075 24" x 24" x 0.25" 49.70bs M16, Class 10.9 Washer
24"y 24" Steel Base Plate (609.60mm x 609.60mm x 6.35mm) (22.54kg) M16 x 2 Thread, Class 10.9 Nut) T K
MT-PL-B-18-18-0075 18"x 18" x 0.25" 28.801bs g;g:-;;ET?reagthfag\eN 8 5:10“, 2" Long ‘
" v INC-Flated Washer
18" 18" Steel Base Plate (457.20mm x 457.20mm x 6.35mm) (13.06kg) 5/8"11 Thread, Grade 8 Hex Nut
MT-PL-B-12-12-0075 12" x 12" x 0.25" 12.50lbs (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt
12" 12" Steel Base Plate (304.80mm x 304.80mm x 6.35mm) (5.67kg) M16, Class 10.9 Washer M H

M16 x 2 Thread, Class 10.9 Nut)

& @ O AL

In Stock Reusable Compatible Serialized & Traceable

..I.f.Tf_.[ ModTruss U.S. Patent No. 8,418,425 & other patents pending




64

Series | PL Plates

Product Number | MT-PL-B-XX-XX-0075

G/00-XX-XX-9-1d-IW

“4IGWNN 1¥Vd

NEINARIEN 4t

‘NOILIdOS3a

_>.zoz>mi 8102/91/8

W NI 34V SNOISNIWIQ [ ] 13%0vaa
[66°11 90'% - G3W : 13AT1 NOISIOIAd

SSNALDO _hE
—

Gl

[S061]
Ss

§.00-CL-Cl

. lozsy]
0081
® © & 6 o o ﬁ@VRL
ﬁON@N; © © © & @ \\ &0
ﬁONRmﬁg OOM ® ee@ Gee ki
00'81 MQ wmw% @F C [99¢¢]
i
H g or'se
S ol
[09°L01]
007
S£00-8L-8L-9-1d-IW

~ [99¢6]
| 69°€

A! [029/]
00'¢

[97°21]

69° P

-9-1d-IW

[o2l]
0s’

soel |-

0s°

[S0'61]

[027T] vT

1

[09°609]
002
[0z'9/] N
00'¢ ﬁ
e 6 6 ©6 6 © 6 © T.YV.RL
¢ & & o 0 o ¢ o/ 69"
@ QQG ® o 0@0 G\
ﬁOOQOOQ ¢ @ emeﬂume N2
OOVN e © G@G @00 o O ﬁ@@.ﬂ&;
¢ & & © O o o o - &Qm
@ QGG ® © 0@0 o *
o o o o o © © o Q’
__| [09'101] Fv..ﬁ
[or'sz] 00y 00't
0l 6/00-vZ-vZ-9-1d-IW
[07'716]
00'9¢
o 0% o0 oy oe| | [99¢4]
00 o o OG Q@M
ovvie] | ° % e e o
00'9¢ o OB o
o o 000 000 (e} o
@ @
ooo ooo R _ o>o o:o *
. A! [or's2]
[ovsz] / | [097101] 00l
00°1 00y
G200-9€-9¢-9-1d-IW

NSSNALPOA .m..E

U.S. Patent No. 8,418,425 & other patents pending



Base Plate 48" x 48"
Part Number | MT-PL-B-48-48-1000

Standard Material
Standard Finish
Available Finish(es)
Size

Weight

Hole Size

Recommended
Hardware

Recommended Tools
For More Info

A36 Low Carbon Steel

95 - Enamel Satin Black

02, 95-96

48" x 48" x 1" (1219.20mm x 1219.20mm x 25.40mm)
630.00Ibs* (285.76kg)  *Not Certified

11/16" (17.46mm)

5/8"-11 Thread Grade 8 Bolt, 2.5” Long | 5/8"” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M16 x 2 Thread, 64mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Tool Kit 1
www.ModTruss.com

WA
oT |
QD‘?,Q.

Made To Order Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending

TR

JH
PA
HG
MR
AC
HW
L
MH

o




66

Series | PL Plates

Product Number | MT-PL-B-48-48-1000

0001-8¥-8¥-d-1d-IW

“3IGWNN Lavd

L X.8F X .87 'A1V1d SV

‘NOILdI4OS3a

AN INOISIAZY 7 $102/€2/60

WW NI 33V SNOISNIWIC [] 1330 vae
65" 1] 907 - GIW 1 13A3T NOISIDFdd

SSNALPO

00°L

I~ [ovrse] [olsg] 1»
a

008y
[ozslz]
00" 90°€ 00zl 00zl 00zl 009
[6£:44] [08¥0¢g] [08¥0¢g] [08¥0¢g] [or'zS1]
009 00" 6T
051 [orest] [197Z]
| L
Terme LT 1 mnml 8
006 =£®¢ A N A 17919 =)
[09°82¢] ooe | DB ~ Y ool
SR b 3¢h2) 1o I
&0 -0 --b & oo b '’
MK
33
[e] o] [e]
T _ o _ ° _ Py k
i | | N ’ a
P TIT LT 009
| | [ovest] o =
\W\j | . eI . ot BR 8T
\t | ] | N Sy 8
L 75,
&b -\ k
mm._sg @ T - 'S — a
JR:)
° 0581 A 99" ¢ °© °© -
PR
eI LT 1 S8
] e\ SRaRE \
i e g L&l & |
S gpecse.
L N AT 1)
11049.,8/S 304 STIOH 00¢
%”S FN.@Q
va] ops =coe 05°1
[09°827] [ol8g]

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



Weld Blanks TR

MT-PL-WB-12-12-XXX-ST MT-PL-WB-06-12-XXX-ST MT-PL-WB-06-06-XXX-ST

H

PA

Standard Material | A36 Low Carbon Steel
Standard Finish | 02 - No Finish
Available Finish(es) | N/A H G

Hole Size | 11/16" (17.46mm)

Recommended 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware (M16 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1 IVI R
For More Info | www.ModTruss.com

Part # Size Weight Ac
MT-PL-WB-12-12-0025-ST 11.50” x 11.50” x 0.25" 8.40lbs (3.81kg)

12'x12" X 1/4" Steel Weld Blank (292.10mm x 292.10mm x 6.35mm)

MT-PL-WB-12-12-0050-ST 11.50” x 11.50” x 0.50" 17.45 (7.92kg)

12/x12'x1/2" Steel Weld Blonk (292.10mm x 292.10mm x 12.70mm) HW
MT-PL-WB-06-12-0025-ST 5.75" x 11.75" x 0.25" 4.35lbs (1.97kg)

6"x 12" x 174" Steel Weld Blank (146.05mm x 298.45mm x 6.35mm)

MT-PL-WB-06-12-0050-ST 5.75" x 11.75" x 0.50" 8.801bs (3.99kg)

612" 1/2'Stel Weld Blonk (146.05mm x 298.45mm x 12.70mm) TK
MT-PL-WB-06-06-0025-ST 5.75" x 5.75" x 0.25" 2.10lbs (0.95kg)

6"x6"x 1/4" Steel Weld Blank (146.05mm x 146.05mm x 6.35mm)

MT-PL-WB-06-06-0050-ST 5.75" x 5.75" x 0.50” 4.20lbs (1.90kg)

676" 1/2'Steel Weld lonk (146.05mm x 146.05mm x 12.70mm) MH

o S FH

In Stock Customizable

U.S. Patent No. 8,418,425 & other patents pending




Plates
Product Number | MT-PL-WB-XX-XX-XXXX-XX

Series |

XXXXXX-XX-XX-GM-Td-IW

“IGWNAN 13V

SAINVIE d1IM

‘NOILdI¥OS3a

S.zozai 8102/91/8

WW NI 38V SNOISNaWIA [ ] 13¥0vae
[65°1] 90°F - GIW : 13AITNOISIDINd

NSSNALPOIA ‘_‘ E
S i

15-0500-90-90-dM-1d-IW 13318 W&/ L .90%.90
TV-0500-90-20-9M-1d-IW WNANIWNTY W&l L .90%,.90
15-G200-90-920-dM-1d-IW 13318 WL .90%,.90
1v-5200-90-90-dM-1d-IW WNANIWNTY B .90X%,90
1S-0S00-C1-90-dM-1d-IW 13318 W&/ L W LX.90
TV-0500-CL-920-9M-1d-IW WNNIWNTY W&l L W 1X.90
1S-G200-C1-90-dM-1d-IW 13318 WL (£ 1X,90
1V-5200-C1-90-gM-1d-IW WNANIWNTY B W LX,90
1S-0500-CL-C1-dM-1d-IW 13318 WL/ L W£CLXCL
1V-0500-CL-Cl-aM-1d-IW WNNIWNTY W{Zl L WXL
1S-G200-C1-C1-dM-1d-IW 13318 WL W£CIXCL
1v-5200-CL-CL-aM-1d-IW WNANIWNTY iz W£C XL
JIIWNN LaVd TVIIELVYW SSANNDIHL 37IS
[e67€] [07'9/] wmwg
8¢’ 00°€
;- X
[c6ve] | \@ @ @ ©
8¢’ [0z'92] [sO9¥L]
99" E\ 00¢ /S
60 /@ O O @[\4

[S7'867]
SLLL

: [02°9/]
ﬁmm.wg 4 00'€ ﬁ
o bt
[ov°£1] [029s]  [SO9¥L]
: 00¢ LS

AT
\4

[soort] |

LS

[or'sz] [S/1€] [S21¢€]
00' 13 STl j Al
g ~
o o o o
& & [0z'9/]
00°€
© O
[olzez] [svisL]
0511 $L9

[01267]
0SL1

NSSNALPO| N.s

U.S. Patent No. 8,418,425 & other patents pending



	Tom sida



